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1. Which of the following is the latest version @ Frafafaa 4 2 o] aEFEee f5e

of the Microsoft Windows opcrating FHqfan =y =1 Taan v % 9

system ?
Y 7
(A) Windows 7

B) fas=
(B) Windows 8 (B) 8

+CY” Windows 10 ' \‘Q/f’f?m 10

(C) Windows XP 19) fags wd -
2. Which of the following is a web browser Fefafaa 8 | =9 T g fasiaa
developed by Google ? T&F 99 A8 ¢ 2
(A) Safari (A) o
(B) Firefox (B) WG
(C) Intemet Explorer (CI TS TSR
(D)/ Chrome (\Dyﬁq
3. Following are the types of LCD Panel : 3. uadre! i & wen fFrafafea €
(A) Flat Panel and Laser (A) T T 3R AR
(B) Normal and Roof Mounted \\(l)(?ﬁa M EE HES o
(C) Mesh Model and Curved (C) A AISH 3 gHEER
~{DY” None of these \(D] 3H 9 Eﬁ TR

Set-D  (May-2023) (3) T-51 _Contd.



4. How many Pins arc there in VGA Cable ?
(A) 11
B) 12

<) 17

\(B/.\'onc of these

-~

5. Which of the following is the type of

Intemet Connections ?
(A) Dial Up

(B) DSL

(C) WiFi

’_\(17

All of these

6. Which are the major e-Governance
Initiatives in Rajasthan 7
\(,y/ Raj Megh
(B) Ruj Net
(C) Raj Sewa Dwaar

(D) All of these

Set-D  (May - 2023) (4)

4, e Faa d fead feaema g ?

(A) 1l
(B) 12
(C) 17

‘e oy T AR T

5. f=fafma 9 3 #9391 32032 =991 =

TFR T ?
(A) TTEA 39
(B) ZETTHIA

(C) dTEwTE
\\yi J[ut

6. TSUT 8 WE TR vz wieq § 2
\ T
(B) TS H2
(C) TS a1 g
(D) ATy
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Which service can be used through SSO

7.

Portal Resident’s Login ?
(A)  E-Mitra Services through Web Portal
(B) Rajasthan Sampark

(C) c-Public Distnbution System

g( All of these

8.  Which is an example of E-Commerce

Website ?
(A) Twitter
(B)

_(\C/Amz'.zon

(D)

Facebook

Following is the conr .oups in

Animation Tab of M At PowerPoint

2010:

Preview

(A)

Mimulion

(C) Timing

(D) Allof these
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All of these e

(5)

. m 7 - ~ &
7o TS ek frapg 4 A = o |
V438 301 40 39 o 1 s 3 7

(A) A3 W5 % o 45 3 farg Fpart

(B) - WSy a1y

(C) - faamm yorh

w 3 1t

8. S‘—’Eﬁflﬁ qA32 Eakcagt

AR -4

(A) f@Ez

(B) HEIF

N i
\p1 3=
v
Microsoft PowerPoint 20105 T AT A
3 fop=ron v freAferEd < :

(A) yafacied

>“‘\

\myqﬁrfwm

(C) 88y

w))/ il
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10. Sclect the conect matching option from the

table given below

(1) Input (P) Trackball. Microphone,
Devices Kevboand

(2) Output  (Q)Hand sk Drnive
Devices

(3) Storage  (R) Monitor, Panter,

evices Headphone

(A) 1-P.2-Q.3-R

11. Which connectivity required for the

HotSpot internet connectivity ?
A)/ Wi-Fi

(B) Induction

(C) Infrared

(D) Allof these

Get-D  (May -2023)

10, =t A 1 e 33 A fgem fawed
SR AT
(1y Input . (I 'I'1.|d.lv;|\|..\«hunph(mc.
Devices Iv:c_yhn;nd

(2) Output (O) Hard Disk Drive

Devices
(3) Storag (R) Monitor, Printer,
Devices Headphone
(A) 1:P,2-Q,3-R
(B) 1-Q.2-R.3-P

y/l-}’. 2-R.3-Q

(D) 1-Q,2-P.3-R

1) elzeate setie wafEa & T f&9
Fafaefad @1 EvdEal § 2
(A aAE-WTE
(B) eI
(C) THIS

(D) 3asf

(6) T-51 Contd



12. Following arc the clements of a chart in
MS-Excel 2010

(A) Chart Title, Legend, Data Labels
(B) Data Points, Data Serics, Gndlines

(C) Value Axis, Category Axis
\/LD‘T All of these

13. Which of the following devices is used to
connect a computer to the intemel through
a phone line ?
_Modcm
(B) Router
(C) Switch

(D) Fircwall

14. Which of the following is an Open Source

(free to all) Mobile OS ?

(A) Windows Phone OS

(B) AppleiOS
7) Both (A) and (B)

(D) None of these

Set-D  (May - 2023)

(7) - T-51

12, MS-Excel 2010 § v o & T
fr=fafaa @ .
(A) =2 i, #frsiz, 22 TrEa
(B) 22 uizZA, 22 i, fosems=
(C) Ay ufayn, w2 ufF

’J it

&W"fﬁlaqilﬁ?f’m’nmm

mmfﬁﬁmm -11‘/4-1'4"2'_'37*1
drer s faufda s 2 ?

14. Frerftad 3 A ST G 3 8 (T

3 e fi:qc) e SE € 2
(A) fa<e wF 3TE
(B) TWA IMESTH
Ayt B

(D) T A wE TG

Contd.



15. The full form of URLT s
(A) Unintermupted Resouree Location
(B)  Unitorm Resouree 1.ocation

(C) Umfied Resource Locaton

\Vl'mfnnn Resouree Tocate:

16. Which prnter prints data or images by
spraving small droplets of ink at high speed
onto the surface of the paper ?
(VA/lnkjcl pnnter
(B) LaserPnnter

(C) Dot matrix printer

(D) Drum printer

17. Which kevs combination is used to inscrt

duplicate slide in a PowerPoint
presentztion ?
(A) Cul+X
(B) Cul+N

(C) Cul+M

; \(p/cmn)
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15, ‘URL ™I feganifint ¥ € ¢

(A) 3I° P ATt Fraqre] FAn U

:ﬁ.m,,’:f flTiT"i MK

I'I!'-f’

\ ¢13y/ Fpfarsted fosiis

%.
|/—-’°;

l('c ""I [xn f'JJx III ,l n 1‘ ‘j‘tfl !: s

fagsii 1 eEa a 3 fpzwas 20 T
( =n~ ""7'

(B) @ f52x

(C) =fe-Fiz== 7=

(D) B T%e

-

*n-—nmd

17. fawuizz v=ifd § giemne =s:
FA & foau fag a0 F5em 71 57
(A) Cul+X

(B) Cul+N

(C) Cul+M

Wlll-ﬂ)
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18. Full form of DVD is
(A igital Versatile Disc
(B)  Digital Video Disc
(C) Digital Video Detinition

(D) Both (A)and (B)

19. Which of these muns on Compute are
and provides a platfor
software ?

(A) Operating system

(B) Application software

\(}Z/Bolh (A) and (B)

(D) Nonc of these

20. Designed and launched by National

Payments Corporation of India :
(A)_Rupay
(B) Master
(C) Visa

(D) Mestro
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~an other

18, =11 W) fepmga w2

\U\ #/f‘:"f?ﬂ?’.'?l a7 frog

(D) (A) 3017 (13) 2T

3y fzfear=nfza fze=s
() f=fam w@nfzm =frm

| 19. 3TH A I FO7Z arEagr q7 79 Fidl
(B) UwTehv Faat
d (A) 3 (B) &I
(D) TFH A &E T
20, 9RA % T IaH [T 5R 99140 31
\/(-')(liupu'\'
(B) Master
(C) Visa
(D) Nlestro
(9) T-51  Contg




21. FIEL ~31Taaﬂﬁ?ﬁmww

21. What is the process of tuming on the

3 2
computer ? o

(A) Starting (A) w2

") P cuEilk!

(B) Tuming on

(C) Hibematung

\(‘yBoming

22. Which of the followingisan examplcof a

web browser ? %2

(A) Google Chrome (A) A B

B) Safai (B) ITHEHI

(C) Mozilla Firefox (C) Tfaen FrEHS

All of these \(/D)/ﬁ*ﬁ

23. Which of the following can be considered 23, frafafea 4 3 )
= HT -y Fasi 7
] HarAl T
as e-Governance services ? FY W WA S HEa § 2

Qﬁiving License \\(\%?ﬁm Ay

(B) Driving a Car (B) &R grefan

(C) Buying Vegetables fi
(C) wm

(D) Printing T-Shin A
(D) a“ﬂéﬁiﬁn

Set-
et-D  (May- 2023) (10) S,
T-51 Coﬂ‘d‘



24. Which of the following alignment option @ /n‘un'q_:_;:;' 2010 T s fafag 4 4 F1991
in MS-Word 2010 aligns cach line of the N3N faeey i1l o Z7T sy &
paragraph between left and right margins A9 3157 %1 werE U 5 e w5
and produces straight edges on both left and ® aUl = s am fF=m g7 355y feara
right edges ? &1 I FLar g ?

(A) Center (A) =X
wustify \(B/)/ SR
(C) Left (é) TR

(D) Right (D) T2

\/'
o
Google Drive, Microsoft One Drive and 25. TS gT34, HISHIGIR 99 g3 3 gg

n

Drop Box are the examples of : . E13: RN & IR T

(A) Operating System (A) sifqtfen faew

(B) Search Engine By T e

(C) Network Topology (€) %zaaf CINISIS)

Q/Cloud Storage Services (DY S5 WRY giads
>et-D - (May - 2023) (11) T-51

Contd.



26. Statement 1: Watermark option is used to
insert ghosted text behind the content of
the page in MS-Word.

Statement 2 : Indent option is used o
change the spacing between the paragraphs
in MS-Word.

Choose the appropriate option from the
following :

(A) Statement I is correct and Statement

2isincorrect.
(B) Statement 1 isincorrect and Statement

2 is correct.

(C) Both Statement | and Statement 2 are

P

incorrect.

Both Statement 1 and Statement 2 are

correct.

27. Suppose obtained marks of each pupcf are
in B2to B7 cells. Maximum Marks are 100
for each paper. What is the correct formula
to calcplate percentage in MS-Excel 2010 ?
(AY =SUM(B2 : B7)/600*100
(B) =600*100/SUM(B2 : B?)

(C) =OBTAIN(B2 : B7)/600*100
(D) Allof these

Set=D  (May - 2023

@WI . - H A Ty
- e >
13U g3 i 3
ﬁﬂfmﬁ;‘zﬁﬁ?mm\ﬂlalgl
e 2 ; TAUA-TE H T2 AW 3
T TTOTE % A9 FAaded Fees 3

feru faan = 21

frefafaa 4 4 s9gE fawey Iia

(A) 9o | T & 3R 99754 2 Tea &

(B) d&eA | T & 3 99959 2 WEi £
(C) THi 9ade] | 3R 9999 2 7Teid &

\(ya‘lﬁiaaaaqlaﬁtaaaazaﬁ%

. e
ﬂ( = SUM(B2 : B7y/600+ 100

(12)

(B) =60()*l()0/SU.\'l(BZ :B7)
) =
) \ OBTAIN(Bz : B7)/600* 100
(D) I sy |
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28. 10 you add a recipient email address in

30.

........... box of an email message, copy of

the message is sent o that recipient, and

recipient name is not visible 1o other

recipients of the message,
(A) To

(B) C¢

\y( Bece

(D) Subject

. DNS service must translate .......... i

corresponding ............. .

(A) TP address, Domain name
(\B/ Domain name, IP address
(C) Client, Server

(D) Folder, File

You can charge your phone, tablet or other

device wirelessly by putting the device on

charging pad, without having physically

pluggedin:
(A) Megacharging
(B) Inductive charging

L(9/ Beta charging

(D) Gigacharging

Set-D  (May - 2023)

-

¥

(13)

( zx‘.~

)nfi S % $ i1 vy

ii “T\"nhr i -.‘ S - -~
RN S0 gy 8, e A

ThAl A i e 7, @
WAl A w5 T yrermHa Al
EaRtee R R

ufa =31 yp

(A) To
(B) CC ’
( Bcc -

(A) TSI TeT, BTHA A9
@/Wm,mm
(C) T3S, Tak

\(D) hicel , Iz

3T 379 B, Saere T 3] fgang =
T W g 92 W IR §9 ] @
71 faru fam Iv 1 TRREN Tl 9
Hrel &Y Hehd ¢ °
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31. Whats Big Daty

(\\)'/(K used to cnhance overall
appearance of the  document in
MS-Waord 2010,

(B)  Ttis data sets that are so voluminotis
and complex that waditional data
processing application software are
inadequate to deal with them,

(C)  Auulity to copy formatting from one

arcz in the worksheet and apply itto

another area.

(D) Ttis a directory that is moved into

source directory.

32. Which of the following services can be

availed through the e-Mitra portal ?
(A) Bill payment
(B)  Application for certificates

(C) Filing of gricvances

b |

(14)

&L

Gl,)ﬁn BN AL ?

) (\,\y-fwm P TR AZ 2010 §

" #iym Ffesria w7 %
fegon stren 2

(B) 717 521 72 & 50 374 ot 50 5z
gl

(C) FHYie § TF &3 § =g =
T | T & o T 3

(D) TEUE S0 ey o9 TE

32. ¥-fir3 @ D meam A Profafaa & @
aﬁmmsﬁwwummm% ?
(A) faet spram
(B) WHIUI-US & feu amdes
(C) TS TN

EECA|
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33. What is the shortcut key for starting o
slide show from the beginning in MS

PowerPoint ?
A Fs

(B) TF6

C F¥7

(D) FS

34. Whatisthe shortcut key for pasting copicd

cell(s) or range in MS-Excel ?
(A) Cul+C

(B) Cul+X

Q% Cirl+V

(D) Cul+A

35. Whatis the shortcut key foropening a new

document or window ?
(A) Cul+0O

(B) Cul+S

@// Cirl+N

(D) Curl+P

Set-D (May -2023)

(15)

I e N

“\_‘/‘

M) MS PowerPoin 1 3 =
I Y R v o =
NS I ITE
Y BN | Yiliz o PN
Y ©

34, THCH T § I fhe 10 & =1 & =
TR FA R TEFE A FE ?
(A).M—C@p}

(B) | Gl | etF

\(g/cm/#v o

(D) fﬂfﬁ}——- g "

35. 791w 41 faS) T H vidwe Hait
T ?
(A) Cul+0O
(B) Cul+S

\C)//;ZtrHN )

(D) Curl+P
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